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Zadatak 22. Odredi realni broj a za koji su dani pravci me -dusobno okomiti:

1) y = −1
2

x + 5 , y = ax − 1 ;

2) ax − 2y + 11 = 0 , 2x + 3y − 7 = 0 ;
3) ax + 3y − 4 = 0 , 2x − ay − 1 = 0 .

Rješenje.

1) p . . . y = −1
2

+ 5

q . . . y = ax − 1

p ⊥ q ⇐⇒ kp = − 1
kq

− 1
2

= −1
a

=⇒ a = 2

2) p . . . ax − 2y + 11 = 0 =⇒ y =
a
2

x +
11
2

q . . . 2x + 3y − 7 = 0 =⇒ y = −2
3

x +
7
3

p ⊥ q ⇐⇒ kp = − 1
kq

a
2

=
3
2

=⇒ a = 3

3) p . . . ax + 3y − 4 = 0 =⇒ y = −a
3

x +
4
3

q . . . 2x − ay − 1 = 0 =⇒ y =
2
a

x − 1
a

p ⊥ q ⇐⇒ kp = − 1
kq

− a
3

= − 1
2
a

− a
3

= −a
2

/ · (−6)

2a = 3a =⇒ a = 0
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